TSR

HAEES 012

FER 2022/10/22

0202FEMAEARFENL—R—ILEBME) —FEBFIHELY—4F 15 KREFKRE

Btz HEENH]

V)

: JURY : F—LI tyb [ B | 1 2 3 4 5 | &%
BELARER : 14:05 £ T /RAI KIBRE 3 2 25 25 25 75
RTHEM:  15:03 B &' EBEXER BTEPERASE 0 1 16 13 22 51
SERFE . 00:58 FIEE : KAEFERE S ABERE) 00:14 | 00:18 | 00:20 00:52
(ol REK s LTI P, )
1set 2set 3set 4set bset 1set 2set 3set 4set bset

M 4 8 4 8 1011 4 8 EIE: B OB TN 17 15,1 7 15 1 7 15
(18) anlas as) R EE a—F (8) 8) (8
1T 3 1011 1 3.1 3 10 1§08 & " 0% 18K 2 12 23 2 12 23/ 2 12 23
an 2 B = 1 (4) (4)
§ § § § i SALT DL RO e | s |- -
i HE B EY: iR E & B £ SFf
RIEE (%) 50.6 79 40 6 Rk 89 32 12 36.0 RIEE (%)
REE (%) 55.6 9 5 1 (RN T7HRYY) 14 4 4 28.6 REE (%)
v FEH(R) 3.00 — 9 — Jowvy — 5 — 1.67 vy FEH(R)
SR (%) 3.1 73 2 6 H—7 53 0 9 -1.4 SR (%)
R IhEE (%) 73.9 — — — H—JLi—J — — — 70.5 R IhEE (%)
F—LTHI b+ 2 — 24 — HFOIR — 14 — 3 F—LTHIE
152 75 12 &5t 142 51 21
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
—_—— t rex 25 lnex % le 5 lnexy B |2EE =
N B2 e slp R R i%‘;‘iﬁfaigwg
1 C B g} 3 m Em 00 0 - - 00 0 = 0 = 9 0 1 2 2.8 0/0 0 =
2 L itA BE 3 L L L 00 0 - - 00 0 - 0 0 0/0 0 - 1812 3 750
3 A 5 3 m Em 1590 600 300 |0 0 0 = 0 = 17/0 0/0 00 |8 6 2 8.5
4 &F 58 3 m mEm 2181 381 267 |0 0 0 - 3] 100 |12 0 0 3 6.3 |16 9 5 719
5 e MR 0
6 EiEilPN: 0
8 EH B 3 m Em 22 12 2 545 400 |9 5 1 5.6 [3 1.0 [13 0 1 1 00 [0/0 0 -
10 325N 3 m Em 8 5 0 625 .67 |0 0 0 - 30 100 |10 1 10 7.5 00 0 -
11 il 1E 3 m Em 13 6|3 46.2 200 |0 0 0 - 0 - 9 1 /1 1 11 |1 0 0 0.0
12 | L #F AR 0
13 HHE A 1 O 00 0 = = 00 o0 = 0 = 10 0 0 00 [0 0 0 =
15 w245 0
17 T D 2 00 00 0 - - 0 0 0 = 0 = 2 .02 0/ 250 |0 0 0 =
18 LA EE 2 o o 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 1.0 1 500
F—L&F 3 79 40 6 50.6 1333 9 51 556 |9 300 |73/2 67 3.1 |44]27 11 73.9
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
. L . £ N B
CLE P B, 5 4 slumx B P lnex 2 |8 Y |luexn 2 |zmm F
] 1 7 R
1 C IRA HEk 3 m Em 239 5 391 300 |5 0 3 0.0 103 [8 0 1 2 3.1 412 2| 7150
2 B A 3 m mEm 228 3 364 267 |7 2 1 286 |1 03 |9 0 2 1 -28 |14 6|7 679
4 e Bk 2 0O O 00 0 - = 00 0 = 0 = 2.0/ 2 0/ 250 |0 0 0 =
7 Ei B1E 3 m Em 1432 214 100 [o 0o - 103 [8 00 2 6.3 00 0 -
8 EH X 3 00 0 11,0 1000 0.33 |1 1 0 1000 |0 = 3.0 0 1 8.3 504 0/ 800
12 Ak B 3 m mEm 741 511 1.33 [0 00 - 2| 067 |5 0 0 0 00 1.0 1 500
14 N it 0
15 2@ BMA 3 m Em 2 7 1 31.8 233 | 11,0 1000 [0 - 8 04 0| -125 |5 2 2 600
17 | L &5 #E 3 L L L 00 0 - - 00 0 - 0 - 0 0/ 0 0 - 189 4 6.1
18 | L #Et s 1 L 00 0 - - 00 0 - 0 - 0 0/0 0 - 19 135 81.6
20 Tl B 0
22 it ®A 0
23 S 3 m Emm 00 0 - - 00 0 = 0 = 100 0 0 00 [0 0 0 =
24 Bk EEER 0
F—LEE 3 89 32 12 36.0 10.67 (14 4|4 286 |5 167 [53/0 9|6 -1.4 |66 36 21 70.5

Xty bv—

W= —TFT T A2\—

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b

Y=L I—TRUE (%) = (FRHE] x 100+ [R] x50) +3T#

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




